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Reg. No. :

First Semester M.Com. Degree (Reg./Supple.nmp )
Examination October2018

(2014 Admn. Onwards)
COll 1 C02 : AUANTITATIVE TECHNIOUES AND OPERATIONS

FIESEARCH

SECTION A

An swe r any four quesiions. Each q uesl on carries '1 mafi lor Part (a) 3 marks

for Parl (b) and s rnarks ior Parl (c)

1. a) Whal is expectaion of a Gndom varlable ?

b) Slate lh€ densilyluncton of a discrete random variab e'

c) lnihe garne of rollng hvo dice simultaneoLrsy, a pe6on is to get as manv

rupee;as the sum of the nLrrnbers on the iaces ol lhe lwo dice whal ls

lhe mathemaUcal expeclal on of hls earnings ?

2. a) What are static modes ?

b) Discuss n brel lhe role ot OR mode s n decision making

c) Discuss the vaious phases in solving an OR prob ern

3. a) Whal is sarnpe space ?

b) Stale Baye's iheorem

.l An lllterate s€rvant s qiven 5 carrls addressed io 5 ditlerenl peGons

residins in lhe same cit Whai is llre probabililv thal lhe servant hands

over llre card to a wrong Person ?

4 a) Whai ls levelot signiicance ?

b) When and tor what purpose z lest ls used t

ci Explain the procedure forlesiing stalislical hypoihesls
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5. a) Deiine a Poisson dslribulion

b \lllorI pooe e.o oo,s9ondsl b,lio

c) Five colns are lossed 3200times. F nd the expecled irequenc es of heads
Aiso calculale rnean and standard devalion.

6. a) what s dummy aclvty ?

b) Distinguish between CPM and PERT

c) Stat€ the pracucal applicat ons of network techniqles. (4x9=36)

SECT ON B

Answe.the lwo queslions Each queslion carres 12 marks

7 a) Sove ihe lo owing LPP graphically.

^4aximise 
z = 8000x, +7000x?

Subiect to 3x, + x. < 66 ;

xr+x,<45:
xj<2A x" = 

4Ql
xj, x:> 0

on
b) The iolLow nq tab e llsts the jobs ol a nelwork wilh their estrnaies

Duration (days)

Optimistic l,rlost likely

02) 3 6
(1 6) 2 14
(2-3) 6 12 30

l2 4)
(3-5) 5 1l 17
(4-5) 3 6 15
(6-7) 3 9
(5 8) T

(7 8) 19 2A

a) Draw the proleci nelwork.

b) CaLc! ale the engllr and varance oi lhe crilca paih and

c) Wlrat s the approximate probab iiy lhat the jobs on the crilical palh
wi be compeied in 41 days



8. a) The lo owing iablc gives tho nlrnber ol uniis manulaclured per day by
hvo employees A and B lor a number oi daVS.

t I t I t l

41 39 39 32
3a 41 35 4A 30 3a
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Shouldthese res! tsbeaccepted as evidence thal the lwo em ployees are
eqLrally stabe ? (use F rest)

OR

b) n tesl given io 1wo groups of workers the scores obtaned w€re as

Group I 35 29 26 2A

Group ll 49 50 36 41 36 26 34 28

Asslming ihat ihe grolp slandard deviations are the same and thaithe
scores are normally disk buted, lesi the hypoihesis thatlhe group
means ar€ €qual. Use 0.05levelol signfcance. 12x12=241


